EARAROBEEIERT — 2 N— IBISH —F

2015568118 (k) 6EIEME5H

m C2— ¥5%4m®t EEDE T
[AE4£] 1% :250,000 ™ ~ 23#%&:50,000"  33%&:25,000M”  43%&:15000MH ~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . AAfE :30. —6-5- . — A (EH
1l1]1|FvazrET YT IR e Eaaal ke " [ vy
v —NFAY>F— B AL H—H— FRBE%S
o4 | KEKER 1:31.6 9-9-1-1 | 39.5| — 4 485 | EiENE (ki)
2178 eOxt 56.0 (6) (+4) PR
L:T7NHEy b B RU—L¥xEXx SzAve ]
e qp = TERE . —5-4— - EBtEZ (BH
slsls| 728 50=2 o4 s 1.(332).1 4-5-4-4 | 40.3 2 gs) éaat_.ﬁ%
RgHIENZS BT—XL T HREMFREH /77— L
. . HE : 01— — BAEE (FH)
4 3| KU—Lt>x o4 R 1(.13/22.)2 2-2-1-2 | 40.4 3 (5:)33; hilies
LV LKYTYRIZR BSATIA b HEiS
N — B4 | BEET 1:32.8 6-3-8-7 | 40.7| — 5 460 | EMEA (T
5 2 JEHR—Z3 54.0 (3 1/2) (-2) FAI&%%?
L4 F 0 ML BAAY I TLFR =HE%S
#H 5 | ALRE 1:33.0 3-3-3-5 |41.2| — 6 481 | RFIE(E (ER)
6l 7| 1o~ 1F— 56.0 (" 1/2) © |®RmEsE
LT RIAYT2EE Bivw/~R—Fb EH =HB
o N > 5 | JNIRE— 1:33.6 8-8-9-10 |41.3| — 7 459 | BAA(EE (FfH)
] 4 (N2 1 2 - 56.0 (3 1/2) (0) RE—K
R:xA1ZGr7—R B:T7ITHLEY— TIXTT— L
N . R EfEnE . o o — OB (k)
glalo| /S TaNT 85— e & oA A R Py |eEE
RTFRATLH— BI&—FILATLR AALTINT7—L
= 3 o 8 | IEREX 1:33.9 10-9-10-9 | 41.5| — 10 450 | FEAEIE (EMA)
EH 6 LFET1—"T+# - 56.0 (3/4) o) *’Fﬂ}?ﬂ
LANINGZ B:O TLIS #wEF '
= S w7 i 6 | WilsFER 1:34.2 1-1-7-6 | 42.4| — 9 475 | WWOXE (FEH)
10/8|10| 7H¥alv7 54.0 (1'1/2) o |BER
LEyIH7F— B:F7-X mN77—L4
® 1—F—@EBIERL
1T=7r= 10,3,7,5,9,2,1,4,8,6
2a=5"= 10,3,(2,7),5,(1,9) .4, (6,8)
Jol=5r= (3,8),7,5,1,9,10,2,4,6
43—+ — 8,3,1,5,7,10,2,9,6,4
[ N5
B 1 1909 714K 1-8 410 e E 1-7 720M JEE 1-5-8 2,080M
B B 1 110H =5 200M B = 1-8 2,120 EE 1-8-5 9,670M
8 240M 5-8 710M B H 1-8 2,840M
5 1509

ABICOVWTRDTEEERROODE. TR LIV,




